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?ﬁg TREOBHOEILADKRES TREDOHBESILADKRES TREOBBOEILADKRES TREDHEESLNDKRES
; 100kN/mM#Z#BZ2%| 1.00 | 000 ~ 0.03| 10047 |3mEBZB| — ~ — — — | 100kN/mi%#825 | 1.00 | 1071 ~ 1080 100.47 |3mEEZ5 - ~ — — —
Zzh s 1.00 | 0.03 ~ 7.82 100.00 | =ns | 000 ~ 782|210 10.60 Zzh s 1.00 | 5.00 ~ 10.71 100.00 | =nst | 65,00 ~ 1080|210 10.60
2 100kN/m#%#B2%| 1.00 | 000 ~ 1.19| 11792 |3ImEBZB| — ~ — — — | 100kN/mi%#25 | 1.00 | 1203 ~ 1804 | 117.92 |3m&EEZ5 -~ — — —
Zh s 1.00 | 1.19 ~ 897 100.00 | =nS | 000 ~ 897|213 10.78 Zh s 1.00 | 5.00 ~ 1203 100.00 | =nLst | 6,00 ~ 1804|213 10.78
3 100kN/mM#Z#82%| 1.00 | 000 ~ 079 111.77 |3ImEEZB| — ~ — — — | 100kN/mi%#825 | 1.00 | 1094 ~ 1360 111.77 |3m&EEZ5 - ~ — — —
Zh s 1.000.79 ~ 857 100.00 | =hs | 000 ~ 857|206 10.40 Zzh s 1.00 | 5.00 ~ 10.94 100.00 | #nSt | 6,00 ~ 1360 2.06 10.40
4 100kN/mM%Z#B% % — -~ = —|3mZEBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — — |3m%i#BZ 3 - ~ — — —
Fhn st 1.00 | 0.00 ~ 7.65 98.02 | #nbst | 000 ~ 765|201 10.18 Fhn st 1.00 | 6.00 ~ 1090 98.02 | #nS | 5,00 ~ 1090 2.01 10.18
5 100kN/mM%Z#B% % — -~ = —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — — |3m%i#BZ 3 - ~ — — —
Zh s 1.00 | 0.00 ~ 7.64 97.93 | =S (000 ~ 764215 10.84 Zh s 1.00 | 5.00 ~ 10.20 97.93 | #nLs | 600 ~ 1020)| 215 10.84
g 100kN/mM%Z#B% % — -~ - —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — — |3m%i#BZ 3 - ~ — — —
Zh s 1.00 | 0.00 ~ 708 89.92 | s | 0.00 ~ 0.00| 1.65 8.36 Zh s 1.00 | 5.00 ~ 9.20 89.92 | #hs | 5.00 ~ 9.20 | 1.65 8.36
. 100kN/mM%Z#B% % — -~ = —|3mZzBzB| — ~ - — — | 100kN/M%Z#BZ % — - ~ — — |3m%i#BZ 3 - ~ — — —
Zzh s 1.00 | 0.00 ~ 6.85 86.66 | FnLst | 0.oo ~ 0.00| 1.59 8.05 Zh s 1.00 | .00 ~ 9.20 86.66 | ThS | 5.00 ~ 9.20 | 1.569 8.05
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
znLst ~ Zh s ~ znLst ~ Zh s ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
ZnLst ~ ZhLsh ~ ZznLst ~ Zh s ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
znLst ~ ZhLs ~ znLst ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZS ~
ZzhnLst ~ ZhLsh ~ znLst ~ ZhLs ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
znLst ~ ZhLs ~ znLst ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
znLst ~ ZhLsh ~ ZznLst ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
znLst ~ ZhLsh ~ ZznLst ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh st ~ zhst ~ Zh st ~ zh st ~
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